Hokdpinge BK

Partavling HCP 2019-05-21

Partavling, 9 bord, 17 par. Antal brickor: 24. Medel: 167.8. Frirond (*) ger egen procent.

Plac Par Poang % MID Klubb
1 1 210.0 62.51  Karin Henborn - Sven Schoén 15693 20156 Hokopinge BK
2 11 205.4 61.13  Stig Linke - Ulla Linke 30581 30582 Hokodpinge BK
3 7 196.8 58.57  Bente Erlandsson - Bjorn Lundin 58511 30590 Hokopinge BK
4 18 192.4 57.26  Bo Gullberg - Ingrid Gullberg 55374 55373 Malmé BK
5 12 184.5 5491 Elisabeth Konar - Lisbeth Holmqvist 62960 61197 Hokopinge BK
6 3 182.2 54.22  Gote Jonsson - Uno Wahgen 48786 23544  Hokdpinge BK
7 15 179.0 53.29  Evert Lilja - Monica Lilja 35421 44706 Hokopinge BK
8 17 178.8 53.22  Gunhild Karlsson - Kjell Ahlberg 39871 47273  Hokopinge BK
9 5 167.6 49.87  Mats Olsson - Harry Cronqvist 59274 33629 Hokopinge BK
10 6 161.4 48.04  Bertil Bengtsson - Ingegerd Dahlen 39869 36942 Hokopinge BK
11 4 160.0 47.63  Goran Sjostrom - Lena Derbring 28711 58986 Hokopinge BK
12 9 159.5 47.46  Kent Bengtsson - Ingrid Bengtsson 41863 41862  Pri-Bri 1936
13 14 150.9 44.92  Lars Strand - Kjell Kumlien 30572 44832 Hokopinge BK
14 2 138.4 41.19  Sven-Goran Dahl - Anita Dahl 36938 36937 Hokopinge BK
15 10 138.1 41.09 Lilian Olsson - Eva-Britt Bergman 53837 55701 Hokdpinge BK - Hollvikens BK
16 16 126.0 37.50 Christer Jansson - Eva Séderman 53907 44189 Hokopinge BK
17 8 122.4 36.43  Maggan Jystrand - Joso Katalinic 59746 56204 Hokopinge BK
1 Nord Ingen 2 Ost NS 3 Syd OV
Par Kontr Ut Res Par Kontr Ut Res Poéang Par Kontr Ut Res
6 16 4v N= s] 420 0.0[12 11 3NN+3 ¢4 690 130 10| 1 12 2NO-1 +2 100 1.0
7 3 3NN= 3 400 40|18 4 3NN+3 +9 690 13.0 10(15 3 4v V-1 «A 100 1.0
10 5 3NN= €2 400 4015 2 44 N+2 ¢6 680 100 40(18 5 2&#N-1 s A -50 4.0
18 4 3NN= +8 400 40|10 5 44 S= v4 620 70 70|10 17 2v O= *7 -110 6.0
9 17 3NN-1 +4 -50 10.0|14 8 44 N= v9 620 70 70|11 6 2NO= 2 -120 8.0
12 11 3NN-1 +8 -50 100| 7 3 24 S+4 #6 230 40 100 8 4 INO+4 5 -210 10.0
14 8 4v N-1 ¢ A -50 10.0| 6 16 3v N= T 140 20 120 9 14 3NO= *7 -600 13.0
15 2 4vy N-2 ¢ A -100 140| 9 17 64 S-1 v2 -100 00 140|116 7 3NO= 2 -600 13.0
-1 95 - 1 95| - 2 5.0
4 Vvast Alla 5 Nord NS 6 Ost OV
Par Kontr Ut Res Par Kontr Ut Res Poéng Par Kontr Ut Res
15 3 540-2 vA 200 0.0[14 10 3NN+2 43 660 140 00| 4 15 3NO-2 ¢7 200 1.0
1 12 3¢ N= 47 110 20 9 5 3NS+1 ¥8 630 100 40|16 8 3NO-2 T 200 1.0
11 6 Pass 50(12 7 3NN+1 &2 630 100 40| 9 5 2y N+2 A 170 4.0
16 7 Pass 50(16 8 3NN+1 ¥5 630 100 40(17 11 INO= +8 -90 6.0
8 4 3NS-1 46 -100 9.0(17 11 2NN+1 43 150 6.0 80|14 10 3vO= *Q -140 8.0
18 5 3¢ N-1 v3 -100 9.0 6 18 24 N+1 ¢A 140 40 100( 6 18 2v O+4 #Q -230 10.0
10 17 24 V= ¢ A -110 120| 2 1 3¢ N= A 110 20 120 2 1 4v 0= ¢ A -620 12.0
9 14 4¢ N-2 a7 -200 140 4 15 2NO+2 &2 -180 0.0 14012 7 3NO+3 +A -690 14.0
- 2 50| - 3 78| - 3 7.8
7 Syd Alla 8 Vast Ingen 9 Nord OV
Par Kontr Ut Res Par Kontr Ut Res Poang Par Kontr Ut Res
7 18 2NO -2 ¢+Q 200 00| 3 2 2NS= vA 120 140 00|11 7 3NO-4 3 400 0.0
1 8 34 N= A 140 20| 1 8 34S= vA 110 100 4.0(10 16 44 V-3 «4 300 2.0
3 2 24 N= «A 110 40(15 5 3#S= vA 110 100 40| 2 9 3NO-2 43 200 6.0
17 12 2¢ S= A A 90 6.0(16 9 34S-= vA 110 100 40|15 6 2NO-2 &7 200 6.0
15 5 Pass 8.0(14 11 34 V-2 v4 100 50 90|17 1 3¢ 0-2 43 200 6.0
10 6 34 N-1 2 -100 12.0( 17 12 24DV-1 +Q 100 50 90| 4 3 3¢0-1 «A 100 10.0
14 11 34 N-1 2 -100 120| 7 18 24 V-1 *2 50 10 13.0|18 8 2#S-1 +J -50 12.0
16 9 34 N-1 *T -100 12.0|10 6 34 V-1 *2 50 1.0 13.0|14 12 2¢ O= vK -90 14.0
- 4 73| - 4 73| - 5 6.8
10 Ost Alla 11 Syd Ingen 12 Vast NS
Par Kontr ut Res Par Kontr ut Res Poang Par Kontr ut Res
4 3 4v V-1 s] 100 00| 5 4 5NO-1 +5 50 140 00|12 8 3NV-2 ¢7 100 0.0
15 6 3NV= +3 -600 20|14 1 3#V+2 3 -150 120 2.0| 3 10 44 V= +9 -420 2.0
2 9 4v V= *3 -620 70[12 8 3NO= +9 400 10.0 4.0| 2 17 44 V+1 vA -450 9.0
10 16 4v V= s] -620 7.0 3 10 54 0+1 AT -420 70 70| 5 4 4eV+l &A -450 9.0
11 7 4y V= a2 -620 70|15 7 5#V+1 8 -420 70 70|14 1 440+1 ©vA -450 9.0
18 8 4v O= *T -620 7.0[16 11 3NO+1 9 -430 3.0 11.0(15 7 44 V+l ©vA -450 9.0
14 12 4y V+1 v4 -650 13.0|18 9 3NO+1 9 -430 3.0 11.0(16 11 44 V+1 &A -450 9.0
17 1 4vV+1 v4 -650 13.0| 2 17 3NV+3 v2 -490 0.0 140(18 9 44 V+l YA -450 9.0
- 5 68 - 6 6.1| - 6 6.1
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par Kontr ut Res Par Kontr ut Res Poang Par Kontr ut Res
14 2 4v S= 42 620 00[17 3 6NO-4 v4 200 140 00| 7 6 3¢ V-1 *2 50 140 0.0
15 8 3NN= 4T 600 20 1 9 3NV-1 v2 50 11.0 30| 2 10 1¢ V43 ¢3 -130 70 7.0
4 11 INN+2 +8 150 5.0(18 10 44 O-1 vQ 50 11.0 30| 5 12 1¢ V43 &2 -130 70 7.0
18 10 INN+2 +8 150 50(15 8 2¢ V+1 4aA -110 80 60|11 18 3¢ V+1 ¢33 -130 70 7.0
1 9 2¢vN+1 #6 140 80|16 12 2¢ O+3 &A -150 6.0 80(14 3 3¢ V+l «Q -130 70 7.0
17 3 INN+1 T 120 100|114 2 24 O+3 vQ -200 40 100(15 9 1¢ V+3 4Q -130 70 7.0
6 5 2NN-1 +3 -100 120| 6 5 44 O+1 v -450 20 12017 4 2¢ V+2 42 -130 70 7.0
16 12 INN-2 +8 -200 140| 4 11 44 O+2 vQ -480 00 140(16 1 5¢V+1l «Q -420 0.0 14.0
7 - 7 - 8.3 8 - 4.4
16 Vast OV 17 Nord Ingen 18 Ost NS
Par Kontr ut Res Par Kontr ut Res Poang Par Kontr ut Res
17 4 3NS+3 v3 490 15 10 4v S+1 ¢A 450 13.0 4 14 24 N= ¢T 110
2 10 464 N+1 &A 450 18 12 4v S+1 &5 450 13.0 18 12 14 N+1 T 110
7 6 44 N+1 &A 450 3 11 4v S= v7 420 9.0 15 10 INS= vT 90
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11 18 44 N+1 &A 450 50| 6 1 4vS= ¢A 420 50|17 5 INS= 7 90 5.0
14 3 44 N+1 &A 450 50| 8 7 2NS+1 a5 150 80| 3 11 1vO-1 +3 50 8.0
15 9 44 N= *2 420 11.0( 4 14 24 S-1 *A -50 11.0(16 2 1¢ V= s A -70 10.0
16 1 44 N= v7 420 11.0|16 2 4v S-1 *A -50 11.0| 8 7 2¢ V= &9 -90 12.0
5 12 24 N+3 &A 200 14017 5 4v S-2 v7 -100 140| 6 1 24 N-1 T -100 14.0
8 - -9 6.9 -9 6.9
19 Syd OV 20 Vast Alla 21 Nord NS
Par Kontr Ut Res Par Kontr Ut Res Par Kontr Ut Res
4 12 2v N= & A 110 00| 4 12 5NDV-3 ¢A 800 00|18 2 1vyDN= &4 160 0.0
11 15 3& V-1 *A 100 20| 9 8 3NV- *A 100 30| 5 1 3«V-1 vA 50 3.0
7 2 le N+1 & A 90 40(11 15 3NV-1 *A 100 30|14 6 24 0-1 &T 50 3.0
5 14 3¢ N-1 & A -50 80|17 6 1le V= &5 -70 6.0| 12 15 1INV +2 vA -150 7.0
9 8 INS-1 &7 -50 80(18 1 24V= *A -110 8.0[(16 4 2NV +1 &J -150 7.0
17 6 2v N-1 &8 -50 80| 7 2 2NV= *A -120 100 8 3 3NO= +3 -400 12.0
16 3 2NS-2 &6 -100 13.0|16 3 3¢DN-2 &J -500 120({10 9 3NO= v8 -400 12.0
18 1 2vy N-2 s A -100 13.0( 5 14 3NV= *A -600 140(17 7 3NO= 4 -400 12.0
- 10 5.0 - 10 5.0 - 11 8.5
22 Ost OV 23 Syd Alla 24 Vast Ingen
Par Kontr Ut Res Par Kontr Ut Res Par Kontr Ut Res
18 2 4v N+1 ¢A 450 00|17 8 44 V-2 +K 200 00 6 2 4¢0-2 & A 100 0.0
12 15 3v N+2 ¢A 200 20(11 10 4¢ N+1 a A 150 2014 7 3NO-1 A 50 3.0
5 1 3vN+1 *A 170 50| 6 2 4v V-1 A 100 40(18 3 2v V-1 a5 50 3.0
14 6 3v N+1 *2 170 50| 9 4 3&S-1 *4 -100 70| 5 16 34 N-1 SA -50 6.0
16 4 3vy N= *A 140 80|15 1 5¢ N-1 s A -100 7.0[17 8 INO+1 &3 -120 8.0
17 7 29y N= *A 110 100| 5 16 4v V= A -620 12015 1 2v O+1 &4 -140 10.0
10 9 2¢ V= vK -90 12014 7 4v V= +K -620 12011 10 INO+2 &2 -150 12.0
8 3 24 0+1 vA -140 140(18 3 4v V= *A -620 120 9 4 2v O0+2 a2 -170 14.0
- 11 85|12 - 12 -
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